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76-A: 1 wish I hadn't missed his presentation.
B: It was great. I think you ............... the wrong address.
1) given 2) had given 3) will be given 4) had been given

77- On a clear night you might see the moon, some planets, and thousands of sparkling stars while scientists
believe that ...............
1) some stars are called black dwarf.
2) some planets may have great gravity.
3) they're mysterious dead stars called black holes.
4) there are some things in the sky that we will never see.

78- The engineers are working on the weekends ............... delay the construction of factories.
1) so as 2) in order to not 3) so that they had to 4) so that they won't

79- It is said that government has taken measures to remove ............... and raise living standards among
different classes.
1) employment 2) relationship 3) poverty 4) labor

80- The president's chief ............... advisor expects that production will continue at the same rate for the rest
of the year.
1) economic 2) domestic 3) growing 4) willing

81- The................ of a human population is the number of people relatively to the space they occupy.
1) density 2) mass 3) process 4) unit

82- v the product qualities that businessmen use to create a personality for their products, from the
Michelin Man to Ronald McDonald.
1) Remove 2) Consider 3) Transport 4) Offer

83- The map shows the world's most important observations and ............... sites, many of which are near the
equator.
1) pole 2) practice 3) launch 4) purpose

84- The atomic ............... began with the dropping of the first atomic bomb in 1945.
1) valley 2) era 3) sample 4) exploration

85- i how little kids get their mother language is still one of the mysteries in the field of linguistics.
1) Whitin 2) Beyond 3) Exactly 4) Specifically

mm Cloze Test

How safe is your car? It depends on what you are driving and how you treat it. Decades of ...86... in auto
design, combined with seat belt laws, have made it much safer to be on the road. Highway traffic ...87... have
dropped by half. Still many people die in auto accidents each year. Many of these people are young. To keep
your car as safe as possible, don't ...88... what matters most on the road- tires, brakes, air bags and seat belts.
Modern cars are so trouble ...89... that people have forgotten that vehicles should be kept carefully. Failure to
check tire pressure and do other maintenance can have ...90... safety consequences.

86-1) improvements 2) industries 3) instructions 4) involvements
87-1) damages 2) deaths 3) dashes 4) definitions
88-1) include 2) impress 3) ignore 4) intend

89-1) facial 2) flexible 3) former 4) free

90-1) serious 2) surrounding 3) smooth 4) straight
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mm Reading Comprehension
m Passage I:

Today's cars are smaller, safer, cleaner and better than their predecessors, but the cars of the future will
cause less pollution than those on the road today. Several new types of automobile engines have already been
developed that run on alternative sources of power, such as electricity, compressed natural gas, methanol,
steam, hydrogen, and propane. Electricity, however, is the best of all.

Although electric vehicles will not be truly suitable until a powerful battery or other dependable source of
current is available, transportation experts predict a new group of electric vehicles entering everyday life:
shorter-range commuter electric cars, three-wheeled cars, electric delivery vans, bikes, and trolleys.

As automakers work to develop suitable electrical vehicles, urban planners are focusing on systems to
support and make the best use of the new cars. Public charging facilities will need to be as common as today's
gas stations. Public parking spots on the street or in commercial lots will need to be equipped with devices
that allows drivers to charge their batteries while they stop, dine, or attend a concert. To encourage the use of
electric vehicles, the most comfortable parking lots in crowded places might be reserved for electric cars.

Planners predict electric buses, trains, and vehicles all meeting at transit centers that would have facilities
for charging and renting. Commuters will be able to rent a variety of electric cars to suit their need: light trucks,
one-person three-wheelers, or small cars for longer trips, which will no doubt take place on automated freeways
capable of handling five times the number of vehicles that can be carried by a freeway today.

91- The following electrical vehicles are all mentioned in passage EXCEPT?
1) vans 2) trains 3) planes 4) trolleys
92- The author's purpose in the passage is to ...............
1) emphasize on modern and cheap vehicles.
2) support the invention of electric cars.
3) tell a story about alternative energy vehicles.
4) describe the possibilities for transportation in the future.
93- In the second paragraph the author implies that ...............
1) a dependable source of electric energy will finally be developed.
2) everyday life will stay much the same in the future.
3) a single electric vehicle will finally replace several types of transportation.
4) electric vehicles are not suitable for the future.

94- This passage would most likely be found in a ...............

1) car factory 2) history book 3) famous parking lot 4) text book on urban planning
95- The word "Commuters" refers to ............... .

1) daily travelers 2) visitors 3) taxi drivers 4) shoppers

m Passage I1:

Jupiter is the largest and most massive planet and is the fifth in order of distance from the sun. It is well
placed for observation for several months in every year and on average is the brightest of the planets apart
from Venus, for relatively brief periods Mars may outshine it. Jupiter's less than 10-hour rotation period
gives it the shortest day in the solar system insofar as the principal planets are concerned. There are no true
seasons on Jupiter because of the axial condition.

The most famous mark on Jupiter is the Great Red Spot. It has shown variations in both intensity and
color, and at times it has been invisible, but it always returns after a few years. At its greatest extent it may be
40,000 kilometers long and 14,000 kilometers wide, so its surface area is greater than that of Earth. Though
the latitude of the Red Spot varies little, it moves about in longitude. Over the past century the total
longitudinal movement has amounted to nearly 1200°. It was once thought that the Red Spot might be a solid
or semisolid body floating in Jupiter's outer gas. However, the pioneer and voyager results have shown that
idea and discovered the Red Spot to be a phenomenon of Jovian meteorology. There are sings that the Great
Red Spot is decreasing in size and this spot will sooner or later disappear. Several smaller red spots have been
seen occasionally but have not lasted.

96- The main purpose of the passage is ...............
1) to explain why the Great Red Spot changes. 2) to show which of the planets shines the brightest.
3) to give an introduction to Jupiter and its Red Spot. ~ 4) to show that Jupiter is decreasing.

97- According to the passage, Jupiter has the shortest day among the principal planets because ...............
1) of its axial condition. 2) it is on the average the brightest of all the planets.
3) there is a secret of the Great Red Spot. 4) its rotation period is shorter than 10 hours.

98- According to the passage, Mars outshines Jupiter ...............
1) from time to time 2) on a regular basis
3) every several months 4) less often than any other planet

99- It can be inferred from this passage that Jupiter's Great Red Spot ...............
1) will become brighter with time 2) will continue 1ncreasmg
3) is made of floating gases 4) will one day disappear

100- According to the passage, all of the following are true about Jupiter EXCEPT?
1) It is 14000 kilometers wide.
2) There are four planets closer to the sun.
3) There is still much to be learned about the Red Spot.
4) Pioneer and Voyager have added to our knowledge of Jupiter.
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